k field., A k-algebra, a group {Ag}ge6 a G-gradation of A: $A = \bigoplus A_g$ $g \in G$ $A_g A_h \subseteq A_{gh}$ Examples. 1) A = kG group algebra $= \{ \sum_{g \in G} \lambda_g : g \mid \lambda_g \in k, \text{ almost all = 0} \}$ Multiplication in A is bilinear extension of that in G.

Group-graded algebras.

G-gradation: $(kG)_q = kg$ 1 kG = 1 k e = e & ke = (kG)e

(kG)g(kG), = (kg)(kh) = kgh.

2) R any k-algebra component

RG = { Z rg · g | rg ∈ R | dg · βh | d, β ∈ k}

group algebra over R.

(= group ring over R) · (rgg) (rhh)=(rgrh)·(gh)
· extend bi-additively $(RG)_g = Rg$

3) Skew group algebras R k-algebra $g \mapsto \delta_g$ $g : G \longrightarrow Aut_k(R)$ group homonorphism. Define R * G = R * 6 = R * 6 = R * 6 = R # 6by $R * G = \{ \sum_{g \in G} r_g g | r_g \epsilon R, a.a. = 0 \}$ with mult: $(rg)(sh) = (r \cdot 6g(s))gh$ extended bi-additively (=Z-bilinearly)

$$\Rightarrow \left(\sum_{g \in G} r_g g \right) \left(\sum_{h \in G} s_h h \right) =$$

$$= \sum_{g,h \in G} r_g \delta_g(s_h) gh =$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{k \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_g \delta_g(s_h) \right) k \in \mathbb{R}^{2p} G$$

$$= \sum_{g,h \in G} \left(\sum_{g,h} r_$$

Alternatively: Define $gr = G_g(r)g$ $gh = g \cdot h$ in GRxG=k(RUG & use Diamond Lemma rs = r.s etc inR to prove R 26 = (1) R9 as left R-modules

> = D gR geG

as right R-modules

TFAE

1)
$$gr = \sigma_g(r)g$$
 $\forall geG, reR$

2) $(rg)(sh) = (r\sigma_g(s))gh$ $\forall gheG$ $\forall r, seR$

1) => 2): $(rg)(sh) = r(gs)h$ $(byassoc)$

$$\frac{1}{2}r(\sigma_g(s)g)h$$

$$= (r\sigma_g(s)g)h$$

$$= (r\sigma_g(s)g)h$$

$$= (r\sigma_g(s)gh)h$$

$$= (r\sigma_g(s$$

Ex of skew group alg $R = C[x_1, x_2, ..., x_n] = free comm alg [x_1, x_n]$ G = S $G = S_n$ $\varphi: S_n \rightarrow Aut_c(R)$ $\sigma \mapsto \varphi_{\sigma}$ $\Psi_{6}^{\prime}: \{x_{1}, x_{2}, ..., x_{n}\} \longrightarrow \mathbb{R}$ extends to a C-alg homomorphism $\varphi_{\sigma}: R \rightarrow R$, $x_i \mapsto x_{6(i)}$. Note that $\varphi_{\sigma}: R \rightarrow R$

4 group hom is clear. Get

$$R \times_{\varphi} S_n = \bigoplus R G$$
 $G \in S_n$
 $(12) \cdot (\alpha_1 + \alpha_2^2) = (\alpha_2 + \alpha_1^2) \cdot (12)$

Spoiler:
$$R \times_{\varphi} S_n$$
 is "Morita equivalent"
to $R^{S_n} = \{ r \in R \mid Y_{\sigma}(r) = r \mid \forall \sigma \in S_n \}$
algebra of invariants = Symmetric pol's
 $n = 3$: $\chi_1^2 \chi_2 \chi_3 + \chi_1 \chi_2^2 \chi_3 + \chi_1 \chi_2 \chi_3^2 \in R^{S_n}$.

(Paper: M. Cohen Monita equivalence for skew group rings.).

Crossed products.

R k-alq G group.

Crossed products. R = k-alg, & group, $F: G \longrightarrow Aut_{R}(R)$ invertible of $x \in G \times G \longrightarrow R^{\times} = \{group of units & R\}$

Tsubject to conditions.

Luggee set indexed by G

Define a product on

w. mult:
$$(y_{g})(s_{h}) = r \delta_{g}(s) \lambda(g_{h}) u_{gh}$$

(rug) $(s_{h}) = r \delta_{g}(s) \lambda(g_{h}) u_{gh}$
We have:
 $u_{g}(u_{h} u_{k}) = u_{g} \cdot (\lambda(h,k) u_{hk}) =$
 $= \delta_{g}(\lambda(h,k)) u_{g} u_{hk} =$
 $= \delta_{g}(\lambda(h,k)) \lambda(g_{hk}) u_{ghk}$

 $R + G = \bigoplus_{g \in G} R \cdot u_g = \{ Zr_3 \cdot u_g | \dots \}$

Pf (Sketch) Assume 2): Uguh E Agh > Ugh $u_g u_h (u_{gh})^{-1} \in A_e$ Put $\alpha(g,h) = u_g u_h (u_{gh})^{-1} \epsilon (A_e)^{\times}$ Then ug 4 = x(g,h) ugh Problem!) Finish the proof.

Strongly graded algebras: AgAh = Agh

+gih. Crossed priducts RAG Skew grpalgs R&G group algs. Problem 2): Show that crossed products are strongly graded.